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A. Answer the following questions by choosing the correct option: 1x15=15
1. The …………….. believed State was the result of a contract among men.
i. Robert Filmer ii. Trietschke iii. Sophists iv. Mackenzie
2. In the  we find a covenant.
i. old testament ii. understanding iii.discussion iv. New testment
3. J J Rousseau was from …………….
i. Iran ii. France iii. England iv. Italy
4. ………… were enjoyed in the State of Nature.
i. primitive dwellers ii. Natural rights iii. Cave men iv. Warring clans
5. Thomas Hobbes was born in …………….
i. 1550 ii. 1570 iii.1588 iv. 1600
6. Thomas Hobbes wrote the book …………..
i. Social Contract ii. Spirit of Law iii. Two Treaties of Government     iv. Leviathan
7. According to Hobbes men in state of nature was ………..
i. moral  ii. logical iii. querulous     iv. absolute
8. Leviathan was …………… on Earth.
i. mortal God ii. Selfish   iii. masterpiece     iv. materialistic
9. Two Treaties of Government supported the revolution of ……………
i. 1640 ii. 1650  iii. 1688     iv. 1670
10. There was no known and impartial …………. in state of nature according to Locke.
i. authority ii. Trainer iii. staff     iv. arbitrator
11. The First contract asked man to surrender a part of their rights to the …………..
i. new society ii. monarchy iii. sovereignty     iv. democracy
12. The Social Contract was published in …………….
i. 1760 ii. 1762 iii. 1764       iv. 1770
13. Reconciliation between freedom and authority was known as ……………….
i. dictatorship ii. democracy iii. facism iv. General will
14. This theory was based on …………….. perception.
i. democratic ii. Imperialistic iii. wrong iv. right
15. This contract would expire with the …………. Of original parties.
i. theory ii. death iii. absoluteness iv. Political obligation
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